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I. Not Missing the Boat Ouestions

1) 2s mother is a and his father is a t’D 7tv’. For how many rntr is accountable if
he had tu: rur with his mother? And why?

2) For how many rtn is 12x accountable if he had rnr with bis daughter-in-law? And why?

II. my’ that Emerge from the rr Ouestions

1) (According to the ri ofthe ‘1v 17?2D rz’7) For which case 0f “DI rpn would one be :n

2) What is the difference between rn and n’-rn?

3) Is pi hable for w nw if he had mt with flinws widow?

4) If i:w had W2 ri.2t with the girl 11327tL’ was just W7?, (and no 1W2 was done,) is p hable for
tu nw? And what is the rnp for the 1’7?

5) :‘s brother, ntu, married their grandmother and died without chiidren. Must do or
1?fl to bis grandmother. Why, or why flot?

6) What are m2 and what are ,tzri-rp ‘rnD’?
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